CAT Sample Questions: Quantitative Section: Data Interpretation

Questions 1 - 5 refers to the following table: 

PROFILE OF CONGRESS IN YEAR X 
(total membership: 535) 

	House of
Representatives
	 
	Senate

	

 
	

Party
	

 

	292
	Democratic
	62

	143
	Republican
	38

	435
	TOTAL
	100

	 
	Sex
	 

	418
	Male
	100

	17
	Female
	0

	 
	Age
	 

	27
	Youngest
	34

	77
	Oldest
	80

	48
	Average
(arithmetic mean)
	54

	 
	Religion
	 

	255
	Protestant
	69

	107
	Catholic
	12

	18
	Jewish
	5

	4
	Mormon
	3

	51
	Other
	11


	House of
Representatives
	 
	Senate

	

 
	

Profession
	

 

	215
	Lawyer
	63

	81
	Business Executive
or Banker
	15

	45
	Educator
	6

	14
	Farmer or Rancher
	6

	22
	Career Government
	0

	24
	Official
	4

	2
	Journalist or 
Communications
	0

	1
	Executive
	1

	0
	Physician
	2

	6
	Veterinarian
Geologist
	0

	25
	Worker or Skilled
Tradesperson
Other
	3

	 
	Ethnic Group
	 

	17
	Black American
	1

	2
	Asian American
	3

	4
	Hispanic American
	0


1. In the Senate, if 25 male members were replaced by 25 female members, the ratio of male members to female members would be 

A. 4 to 1 

B. 3 to 1 

C. 3 to 2 

D. 2 to 1 

E. 1 to 1 

Ans : B 

2. Approximately what percent of the members of Congress are lawyers? 

A. 63% 

B. 58% 

C. 56% 

D. 52% 

E. 49% 

Ans : D 

3. If 5 senators are Catholic Democrats, how many senators are neither Catholic nor Democratic? 

A. 79 

B. 74 

C. 69 

D. 31 

E. 21 

Ans : D 

4. If all lawyers and all women in the House of Representatives vote for the passage of a bill, how many more votes will be needed for a majority? 

A. 435 

B. 220 

C. 3 

D. 0 

E. It cannot be determined from the information given. 

Ans : E 

5. Which of the following can be inferred from the information given in the chart? 

. More than 80 percent of the men in Congress are members of the House of Representatives. 

I. The percent of members who are categorized as farmers or ranchers is greater for the House of Representatives than for the Senate. 

II. The median age in the Senate is 57. 

C. I only 

D. II only 

E. III only 

F. I and II 

G. I and III 

Ans : A 

Questions 6 - 7  refers to the following table: 

PERCENT CHANGE IN DOLLAR AMOUNT OF SALES 
IN CERTAIN RETAIL STORES FROM 1977 TO 1979 

Percent Change 

	Store
	From 1977
to 1978
	From 1978
to 1979

	P
	+10
	-10

	Q
	-20
	+9

	R
	+5
	+12

	S
	-7
	-15

	T
	+17
	-8


6. In 1979, for which of the stores was the dollar amount of sales greater than that of any of the others shown? 

A. P 

B. Q 

C. R 

D. S 

E. It cannot be determined from the information given. 

Ans : E 

7. In store T, the dollar amount of sales for 1978 was approximately what percent of the dollar amount of sales for 1979? 

A. 86% 

B. 92% 

C. 109% 

D. 117% 

E. 122% 

Ans : C 

Questions 8 - 9 refers to the following Figure: 
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8. Of every dollar received by the federal government, how much (in cents) is from coporate sources? 

A. 32 

B. 70 

C. 30 

D. 35 

E. 29 

Answer : 1 

9. what percentage of the federal revenue is derived from borrowings? 

A. 0.2% 

B. 0.02% 

C. 2.7% 

D. 1.2% 

E. 2.5% 

Answer : 3 

Questions 10 - 11 refers to the following table: 

DIRECTIONS: The following question are based on the bellow table, which shows per capita Mean Expenditure, Per capita Food expenditure, Number of Households and Per capita cereal consumption, in both quantity and value, for different expenditure classes of rural India. The sampled 41597 households are divided into 12 expenditure classes, starting from less than Rs.65 per month per capita and ending at more than Rs.385 per capita per month. 
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10. According to the results of this sample survey, what is the proportion of total expenditure on food to total expenditure for all the sampled households taken together? 

A. 58% 

B. 36.7% 

C. 63.3% 

D. 71% 

E. Cannot be determined 

Answer : 3 

11. What is the difference, approximately, between the gross expenditure of the sampled households in the Rs.95-110 expenditure class and in the Rs.180-215 expenditure class? 

A. 372000 

B. 448000 

C. 496000 

D. 93.8 

E. 52.3 

Answer : A 

Questions 12 - 13 refers to the following Graph: 

GRAPH SHOWS EXPENDITURE ON ARMS BY DIFFERENT COUNTRIES (VALUE IN DOLLARS '000 MILLIONS) 
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12. The amount spent by country C in 1983 is what percentage more than the amount spent by Countries A and B together in 1977? (Find approximately) 

A. 50% 

B. 179% 

C. 75% 

D. 13% 

E. 70% 

Answer : C 

13. Which of the following statements must be true? 

. Country A spends minimum amount of its budget on arms. 

i. Throughout, Country C has spent the maximum amount on arms during the years shown. 

ii. An examination of the information for the last 3 years reveals that generally all 3 countries are reducing their expenditure on arms. 

C. i only. 

D. i and ii only 

E. i and iii only 

F. ii and iii only 

G. None of the statements above. 

Answer : E 

Sample Test - Data Interpretation - CAT 2010

Data Interpretation (DI) section accounts for a third of the questions that appear in CAT

Use the information provided in the two pie charts provided below. The total contribution to the GDP by the seven sectors mentioned in the pie charts in the year 1999 was Rs.289640 crores and Rs.317000 crores in the year 2000.

	Contribution to GDP by Industries in 1999
	Contribution to GDP by Industries in 2000

	[image: image4.png]Share &IT  Auto

9% 5% Stesl
8%
Cement
8%
Petroleum
24% Defence

23%

Ad & media
3%




	[image: image5.png]Sharo & T Ao

0% 5% swel
i
Cement
™
/
etence
Patroeum 2%

s

-

a8 media
e






1. Which of the industry sectors witnessed the maximum rate of growth during the period 1999-2000?

(1)Petroleum

(2)Software & IT

(3)Ad & media

(4)Cement

(5)Auto

 

 

2. Which of the industry sectors witnessed a negative growth during the period 1999-2000?

(1)Auto

(2)Defence

(3)Steel

(4)Petroleum

(5)Ad & Media

 

 

3. What was the rate of growth witnessed by the Software & IT sector during this period?

(1)1%

(2)12%

(3)33%

(4)18%

(5)22%

 

 

4. What was the rate of growth witnessed by the Petroleum sector during this period?

(1)1.1%

(2)12%

(3)7.5%

(4)-8%

(5)-3%

5. What was the rate of growth shown by the non-petroleum sectors between 1999-2000?

(1)-4%

(2)4%

(3)7%

(4)12%

(5)17%

 

 

6. Between 1999 and 2000 which other industry witnessed a growth rate similar to that of the defence sector?

(1)Ad & media

(2)Auto

(3)Software & IT

(4)Petroleum

(5)(1) & (2)

 

 

7. The amount contributed by Software & IT sector in 1999 was 180% of the amount contributed by

(1)Steel in 1999

(2)Auto in 1999

(3)Ad & media in 2000

(4)Defence in 1999

(5)Ad & media in 1999

	Answer Key

	(1)
	2
	 
	(5)
	3

	(2)
	3
	 
	(6)
	1

	(3)
	5
	 
	(7)
	2

	(4)
	2
	 
	 
	 


	Data Interpretation

Level 3 Questions
     

	
Question 1.  
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1.   Of every dollar received by the federal government, how much (in cents) is from coporate sources?
 
      1.  32
      2.  70
      3.  30
      4.  35
      5.  29
 
Answer : 1
 
Explanation :
  
Total revenue =$(20+32+6+92+70)=220. Revenue from corporate sources = $70. Therefore, required percentage = (70/220) (100) = 31.5%. Approximately it is 32 cents.

2.   what percentage of the federal revenue is derived from borrowings?
 
      1.  0.2%
      2.  0.02%
      3.  2.7%
      4.  1.2%
      5.  2.5%
 
Answer : 3
 
Explanation :
  
Borrowings = $6. Therefore, required percentage = (6/220) (100) = 30/11 = 2.7% approximately.
 

Question 2.  
  
DIRECTIONS: The following question are based on the bellow table, which shows per capita Mean Expenditure, Per capita Food expenditure, Number of Households and Per capita cereal consumption, in both quantity and value, for different expenditure classes of rural India. The sampled 41597 households are divided into 12 expenditure classes, starting from less than Rs.65 per month per capita and ending at more than Rs.385 per capita per month.
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1.   According to the results of this sample survey, what is the proportion of total expenditure on food to total expenditure for all the sampled households taken together?
 
      1.  58%
      2.  36.7%
      3.  63.3%
      4.  71%
      5.  Cannot be determined
 
Answer : 3
 
Explanation :
  
Answer is (100/158.1)x(100.82)=63.76 approximately.

2.   What is the difference, approximately, between the gross expenditure of the sampled households in the Rs.95-110 expenditure class and in the Rs.180-215 expenditure class?
 
      1.  372000
      2.  448000
      3.  496000
      4.  93.8
      5.  52.3
 
Answer : 1
 
Explanation :
  
Answer is (196.36 x 4023)-(102.56 x 4067)=789956.28-417111.52=372844.76.


Question 3.   

GRAPH SHOWS EXPENDITURE ON ARMS BY DIFFERENT COUNTRIES (VALUE IN DOLLARS '000 MILLIONS)
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1.   The amount spent by country C in 1983 is what percentage more than the amount spent by Countries A and B together in 1977? (Find approximately)
 
      1.  50%
      2.  179%
      3.  75%
      4.  13%
      5.  70%
 
Answer : 3
 
Explanation :

  
The amount spent in 1977 by Countries A and B together =$ (0.75+1.25) = $2.0 million. The amount spent by Country C in 1983 = $3.5 million. This is $1.5mn more than (A + B). In percentage it is = (1.5/2.0) (100)=75%. Therefore the answer is (C).

2.   Which of the following statements must be true? i) Country A spends minimum amount of its budget on arms. ii) Throughout, Country C has spent the maximum amount on arms during the years shown. iii) An examination of the information for the last 3 years reveals that generally all 3 countries are reducing their expenditure on arms.
 
      1.  i only.
      2.  i and ii only
      3.  i and iii only
      4.  ii and iii only
      5.  None of the statements above.
 
Answer : 5
 
Explanation :
  
From the given data we cannot say the statement i) must be true. The graph gives us information only about how much money each country is spending on arms, but it does not give us any information of the budget of each country. Statement ii) is not true. In 1979 Country B has spent more than Country C. Statement iii) is also not true. Countries B and C have reduced their expenditure on arms from 1981-83 and country A has reduced its expenditure in 1983 compared to 1982. But in 1982, country A has not reduced its expenditure and is spending the same amount as in 1981. Therefore None of the statement must be true. Therefore the answer is (E).


Question 4.   
A SAVINGS BANK IN A LARGE CITY PUBLISHED THE FOLLOWING GRAPH FOR ITS DEPOSITORS, HOW YOUR SAVINGS WORK FOR YOU.
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1.   About how many degrees (to the nearest degree) are in the angle of the sector representing mortgages?
 
      1.  59
      2.  106
      3.  211
      4.  246
      5.  318
 
Answer : 3
 
Explanation :
  
Mortgages --> 58.6% Therefore 58.6% of 360 degrees = (58.6/100) X 360 = (0.586) (360) = 210.9 degrees. This is nearest to 211. Therefore the answer is C.

2.   The annual rate of interest from "other assets" is 4.8%. If the total assets of the bank are 57.6 million dollars, what is the annual income (in dollars) from "other assets"?
 
      1.  82,944
      2.  921,600
      3.  1,728,000
      4.  2,764,800
      5.  3,600,000
 
Answer : 1
 
Explanation :
  
Total assets = $57.6 million. Other assets=3% of total assets = $ 1.728 million. 4.8% of $1.728 million = $ 0.082944 million or $ 82944.


	Data Interpretation

Level 4 Questions
     

	
Question 39.  

A SAVINGS BANK IN A LARGE CITY PUBLISHED THE FOLLOWING GRAPH FOR ITS DEPOSITORS, HOW YOUR SAVINGS WORK FOR YOU.
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1.   The average annual interest on mortgage investments is m% and the average annual interest on the mortgage bond investment is b%. If the annual interest on the bond investment is x dollars, how many dollars are invested in mortgages?

      1.  xm/b.
      2.  xb/m.
      3.  100xb/m
      4.  bx/100m.
      5.  200x/b

Answer : 5

Explanation :
  
Amount invested in bonds = $(100x/b). Therefore the amount invested in mortgages must be $(58.6/29.3) (100x/b) = $ 200x/b.

2.   About how many degrees (to the nearest degree) are in the angle of the sector representing cash on hand?
 
      1.  114
      2.  14
      3.  140
      4.  39
      5.  321
 
Answer : 2
 
Explanation :
  
(3.9%) of 360 degrees. = (0.0369 (360) = 14.04. This is nearest to 14. Therefore the answer is B.


Question 37.  
  
DRIVING BETWEEN SEVERAL CITIES (Driving time, in hours, in parentheses)
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1.   A man drives from Albany to Boston. His average speed for 2 hours is 60 miles per hour. What is his average speed (approximately) for the remaining portion of the trip if he completes it in the usual time?
 
      1.  34
      2.  38
      3.  40
      4.  45
      5.  68
 
Answer : 2
 
Explanation :
  
The driver covered (60) (2) = 120 miles in two hrs. He has to cover 51 miles more. For this he can spend (3 1/3) - 2 = 1 1/3 hrs = 4/3 hrs for the rest of the trip. speed = distance/time. speed = 51/(4/3)hours = (51)(3/4) = 153/4 = 38 1/4 miles per hour. It is approximately 38 miles per hour.

2.   Find approximately the ratio of the average speed of a man who drove from Montreal to Boston via Albany and to the average speed of a man who drove from Montreal to Boston via Portland.
 
      1.  1
      2.  3/2
      3.  2/3
      4.  1/5
      5.   5/4
 
Answer : 1
 
Explanation :
  
The distance between Montreal and Boston via Albany is 231+171=402 miles. The time taken for this drive is 6 1/4 + 3 1/3 = (25/4)+(10/3) = 115/12 hours. Therefore the speed of this drive is 402/(115/12) = (402)(12)/(115) The distance between Montreal and Boston via Portland is 265+108=373 miles. The time taken for this drive is 6 3/4 + 2 5/12 = (27/4)+(29/12) = 110/12 hours. Therefore the speed of this drive is 373/(110/12) = (373)(12)/(110). The ratio of these two is (402)(12)/(115)/ (373)(12)/(110) = (402)(22)/(373)(23) = 1 approximately.


Question 13.  
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1.   How many grams of sucrose (to the nearest gram) must be added to one gram of saccharin to make a mixture that will be 100 times as sweet as glucose?)
 
      1.  7
      2.  8
      3.  9
      4.  10
      5.  100
 
Answer : 2
 
Explanation :
  
100 times as sweet as glucose = 74. Let x be the number of grams of sucrose to be added to saccharin. 1 gram of saccharin = 675. If x grams of sucrose is added to 1 gram of saccharin, then the sweetness of the mixture=(Sweetness/number of grams) = (x(1.00) + 675)/(1 + x) and we need it to be equal to 74. Therefore x + 675 = 74 + 74x Therefore x - 74x = 74 - 675 Therefore - 73x = - 601 Therefore x = (601/73) = 8.2 grams. It is nearest to 8 grams.

2.   What is the ratio of glucose to lactose in a mixture as sweet as maltose?

      1.  8 : 21
      2.  21 : 8
      3.  25 : 9
      4.  29: 8
      5.  32: 5

Answer : 1

Explanation :

Obviously we must use less of the glucose than Lactose to get 0.32, since glucose is sweeter than lactose. In the given choices the least proportion of glucose to lactose is 8 : 21. Therefore the answer is (A). Or Suppose the ratio is x:y. Assume x+y=1. Then x(0.74)+(1-x)(0.16)=0.32 implies x(0.74-0.16)=0.32-0.16 implies x(0.58)=0.16 implies x=(16/58)=(8/29). y=(1-x)=(21/29) Therefore the ratio is 8:21.


Question 10.   
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1.   Ratio of the amount spent on legal affairs in 1970 to the amount spent on legal affairs in 1960 approximately.
 
      1.  3/1
      2.  1/3
      3.  2/3
      4.  1/2
      5.  3/2
 
Answer : 4
 
Explanation :
  
Amount spent on legal affairs in 1970 = (4851/100)x4 = 194.25. Amount spent on legal affairs in 1960 = (3087/100)x12 = 370.04 The ratio is 194.25/370.04. Approximately it is (1/2).

2.   The amount spent on materials in 1960 was 120% of the amount spent on
      1.  Research in 1960
      2.  Compensation in 1960
      3.  Advertising in 1970
      4.  Materials in 1970
      5.  Legal affairs in 1960
 
Answer : 1
 
Explanation :
  
(18x100)/120 =15%. Research received 15% of the expenditure in 1960.
 

Question 9.   
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1.   Among the four years in which year in which industry maximum percentage of people were selected and what percentage it will be of total people selected in that year in all industries? (Find approximately)
 
      1.  1972, cotton industry, 36%
      2.  1971, cotton industry, 40%
      3.  1973, cotton industry, 40%
      4.  1971, food products, 30%
      5.  1973, cotton industry, 45%
 
Answer : 3
 
Explanation :

By observing the tables we can find that in all the four years in the industry of cotton textiles more people were selected. In the year 1970 the numbers of selected people were 2595. In this year 944 were selected in cotton industry. It is of (100/2595)(944)=36% approximately. In the year 1971 the numbers of selected people were 2816. In this year 1018 were selected in cotton industry. It is of (100/2816)(1018)=36% approximately. In the year 1972 the numbers of selected people were 2870. In this year 1042 were selected in cotton industry. It is of (100/2870)(1042)=36% approximately. In the year 1973 the number of selected people were 3061 In this year 1225 were selected in cotton industry. It is of (100/2595)(1225)=40% approximately. Note: By observing the table one can see that in 1973 more people and in that in cotton industry more were selected. So it is enough to calculate for the year 1973 only.

2.   Among the four years in which industry maximum percentage of people were selected in that industry than the earlier year?
 
      1.  Cotton textiles
      2.  Beverages
      3.  Food products
      4.  Other textiles
      5.  Wood and wood products.
 
Answer : 2
 
Explanation :
  
By observing the given data we can see that only for the following cases a considerable percentage of more people were selected in that industry than the earlier year. For 1970-1971, in the industry of food products 64 more selected and this is of approximately (100/676)(64)=9% For 1970-1971, in the industry of Beverages 52 more selected and this is of approximately (100/144)(52)=36%. For 1970-1971, in the industry of cotton textiles 74 more selected and this is 8%. For 1972-1973, in the industry of cotton textiles 183 more selected and this is of approximately (100/1042)(183)=18%. Therefore in 1971 in the industry of Beverages a maximum percentage of more people were selected in that industry than the earlier year.


Question 33.  
  
INCOME: 1. Money from fund raising programmes, 2. Grant from the government, 3. Contributions from individuals, 4. Contributions from corporations, 5. Contributions as commodities. EXPENDITURE: 1. Education of the illiterate, 2. Food for the poor, 3.Management and salary of staff, Expenses to organise fund-raising programmes. Above charsts show the amounts of an NGO Income for the year 1998-1999 = $ 55 Mn. Expenditure for the same year = $54Mn.
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1.   If the government stops the grant and the expenditure pattern remains the same, then what will be the decrease in the money spent for the education of illiterate?
 
      1.  19.37mn
      2.  22.5mn
      3.  28.3mn
      4.  5.43mn
      5.  3.13mn
 
Answer : 5
 
Explanation :
  
Government grant =(50/360)x55 =7.64Mn. 55-7.64=47.36 Mn. Money saved =47.36x(1/55), of the rest, (150/360) is spent for education. Therefore Money for education =47.36 x (54/55)x(150/360 ) =19.37 Mn. Money spent earlier =22.5 Mn. 22.5-19.37=3.13 Mn.

2.   How much money is raised by fund raising programmes?
 
      1.  21.39 mn
      2.  30.13mn
      3.  14mn
      4.  28mn
      5.  28.57mn
 
Answer : 1
Explanation :
  
(140/360)x55=21.39.


